The group G is isomorphic to the group labelled by | 336, 114 ] in the Small Groups library.
Ordinary character table of G = SL(2,7):

la 2a 4a 3a 6a 8a 8b Ta l4a 7 14b
X1 1 1 1 1 1 1 1 1 1 1 1
x2e |3 3 -1 0 0 1 1 E(M+EM?>+EMN* EMN+EDN?*+EMN* EM3+ET)>+E(MS ET3+ E(7)°+E(7)°
x3 |3 3 -1 0 0 1 1 EM}+EM>+E(MNS EM}+ET°+ETS EMN+ET*+EMN* BT+ E7)?+E(1)!
X4 6 6 2 0 0 0 0 -1 -1 -1 -1
xs |7 7 -1 1 1 -1 -1 0 0 0 0
X6 |8 8 0 -1 -1 0 0 1 1 1 1
xr |4 -4 0 1 -1 0 0 —E(T)—E(M)?—-E(M* EM+EMN*+EMN* —-ET)?-ET>-ET® ET)?+E(T)+E(T)
xs |4 -4 0 1 -1 0 0 —E(7? - E(T)5-E(N® E(M)3+ET)°+E(M® —-E(T)-ET?-EMN* E7)+E(7)?+E(7)?
xXo |6 =6 0 0 0 E®B)-E®)? —E®8)+E®)?3 -1 1 -1 1
Xo| 6 -6 0 0 0 —FE@®B)+ )3 (8) — E(8)3 -1 1 -1 1
x| 8 -8 0 -1 1 0 0 1 -1 1 ~1
Trivial source character table of G = SL(2,7) at p = 2:
Normalisers ZVz N1 N2 N3 N4 N5 NG N7
p-subgroups of G up to conjugacy in G P P, P P, P Ps | P
Representatives n; € N; la 3a Ta 7b la 3a Ta 7b la |la 3a |la 3a | la | la
1-x14+0-x24+0-x34+0-xa+1-x5+0-x¢6+1-x7+1-xs+0-x0+0-x10+0-x11 |16 4 2 2 0 0 0 0 0 0 0 0 0 0 0
O-x1+1-x24+0-x3+1-xa+1-x5+0-x6+0-x7+1-xs+1-xo+1-x10+0-x11[32 2 4*xE(7)+4+xE(1)2+2+«E(1)>+4xE(MN*+2xE(7)°+2xE(7)°® 2xE(7)+2+«E(71)2+4xE(1)3+2+«E(MN*+4xE(7)°>+4xE(T)°®| 0 0 0 0 00 0|0 O01]0]O
0 X140 xa+1-xs+1-xatl-xs+0-x6+1-x7+0-xs+1-xo+1-xi0+0-x11 |32 2 2+E(7)+2+E(7)2+4+E(7)3+2xE(T)*+4«E(7)°5+4+E(7)° 4xE(7)+4%E(T)2+2+E(7)® +4«BE(M*+2+«E(7)°+2+«E(T)°| 0 0 0 0 0/l0 o]0 0|0]oO
0-x1+0-x24+0-x34+0-xa+0-x5+1-x6+0-x7+0-x8+0-x9+0-x10+1-x11 |16 -2 2 2 0 0 0 0 0O0l0 OO0 O0]O07]O
1-x1+0-x2+0-x3+0-x4+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11] 8 2 1 1 8 2 1 1 0/0 O01]0 O 0 0
O-x1+1-x24+0-x3+1-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11 [16 1 2% E(T)+2x E(71)?+ E(7)>+ 2% E(T)* + E(7)° + E(7)° E(M)+E(M)?+2xE(7T)3+E(7)"+2xE(7T)° +2x* E(7)° 16 1 2xE(MN)+2+«E(M)2+ET)?+2«xE(M*+E(M)>+E(® E(MN)+EM?>+2xET7)>+EMN*+2«EB(M)°>+2xETM¢| 0|0 0[]0 0/]0/|0
0-x1+0-x2+1-x34+1-xa+1-x5+0-x6+0-x7+0-xs8+0-x0+0-x10+0-x11 |16 1 E(M)+EM?+2«E(T)3+E(M)*+2xE(7)°+2xE(7)° 2% E(7)+2x E(T)?+ E(7)?+2x E(T)*+ E(7)° + E(7)° 16 1 E(MN+EMN?+2xE(7)3+E(MN*+2xE(7)°+2xE(7)° 2+xE(T)+2xE(7)?+E(M)3+2xE(MN*+EM+EM* 010 0[]0 000
0-x1+0-x2+0-x3+0-xa+0-x5+1-x6+0-x74+0-xs+0-x90+0-x10+0-x11| 8 -1 1 1 8§ -1 1 1 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+2-x4a+1-x5+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11 |20 2 -1 -1 20 2 -1 -1 410 01]0 O 0 0
1-x1+0-x2+0-x3+1-xa+1-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11 |14 2 0 0 14 2 0 0 2 2 2 0 0 0 0
0-x1+0-x2+0-x3+1-x4a+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11| 6 O -1 -1 6 0 -1 -1 212 =110 01]0]O0
1-x14+0-x2+0-x3+1-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11 | 14 2 0 0 14 2 0 0 210 012 21010
0-x14+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-xs+0-X9+0-x10+0-x11| 6 O —1 -1 6 0 -1 -1 210 012 —-1101]0
T-xi+1-xe+1-x3+2-xa+1-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11]26 2 -2 -2 26 2 -2 -2 210 01]0 O 2 0
1-x1+0-x24+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11| 1 1 1 1 1 1 1 1 171 11 1|11
Group([()]) = 1
Py = Group([(1,4)(2,3)(5,7)(6,8)(9,10)(11,12)(13, 15)(14, 16)]) = C2
Group([(1,4)(2,3)(5,7)(6,8)(9,10)(11, 12)(13, 15)(14, 16), (1, 2,4, 3)(5,9,7,10)(6, 11,8, 12)(13, 16, 15, 14)]) =
Py = Group([(1,4)(2,3)(5,7)(6,8)(9,10)(11, 12)(13,15)(14, 16), (1, 2, 4, 3)(5,9, 7, 10)(6, 11, 8,12)(13, 16, 15, 14), (1, 13 4 15)(2,14,3,16)(5,6,7, 8)( ,12,10,11)]) = Q
Group([(1,4)(2,3)(5,7)(6,8)(9, 10)(11, 12)(13, 15)(14, 16), (1,2, 4,3)(5.9, 7, 10)(6, 11,8, 12)(13, 16, 15, 14), (1,7, 4, 5)(2, 9.3, 10)(6, 16, 8, 14)(11, 13, 12, 15)]) = Q
Group([(1,4)(2.3)(5.7)(6,8)(9, 10)(11, 12)(13, 15)(14, 16), (1,2, 4. 3)(5.9, 7, 10)(6, 11,8, 12) (13, 16, 15, 14), (1, 12,2, 6,4, 11, 3,8)(5, 16,9, 15,7, 14, 10, 13)]) = C
Group([(1,4)(2,3)(5.7)(6,8)(9. 10) (11, 12)(13, 15)(14, 16, (1, 2.4, 3)(5.9, 7. 10)(6, 11, 8, 12)(13, 16, 15, 14), (1, 13, 4. 15)(2, 14, 3, 16)(5, 6,7, 8)(9, 12, 10, 11), (1,7, 4, 5)(2, 9,3, 10)(6, 16, 8, 14)(11, 13, 12, 15)]) = Q16
Ny = Group([(1,2,4,3)(5,9,7,10)(6,11,8,12)(13,16, 15, 14), (2,5,6)(3,7,8)(9, 13, 14)(10, 15, 16)]) = SL(2,7)
Ny = Group([(1,2,4,3)(5,9,7,10)(6,11,8,12)(13, 16, 15, 14), (2,5,6)(3,7,8)(9, 13, 14)(10, 15,16)]) = SL(2,7)
N3 = Group([(1,2,4,3)(5,9,7,10)(6,11,8,12)(13, 16, 15, 14), (1,4)(2, 3)(5,7)(6, 8)(9, 10)(11,12)(13, 15)(14, 16), (1,5, 4, 7)(2, 10, 3,9)(6, 14,8,16) (11, 15,12, 13), (1,6, 3,12, 4,8,2, 11)(5, 15,10, 16, 7, 13,9, 14)]) = Q16
Ny = Group([(1,13,4,15)(2,14,3,16)(5,6,7,8)(9, 12,10, 11), (1, 2,4, 3)(5,9, 7,10)(6, 11,8, 12)(13, 16, 15, 14), (1,4)(2, 3)(5, 7)(6, 8)(9, 10)(11,12)(13, 15)(14, 16), (2, 13, 14)(3, 15, 16) (6, 12,9)(8, 11, 10), (1, 5,4, 7)(2, 8, 3,6)(9, 13, 10, 15)(11,16, 12, 14)]) = C2 . S4 = SL(2,3) . C2
N = Group([(1,7,4,5)(2,9.3,10)(6, 16,8, 14)(11, 13,12, 15), (1,2, 4,3)(5,9.7,10)(6, 11,8, 12)(13, 16, 15, 1), (1, 4)(2. 3)(5.7)(6,8)(9, 10)(11, 12)(13, 15)(14, 16), (2. 5, 9)(3,7, 10)(6, 14, 12)(8, 16, 11), (1, 6.3, 12, 4,8,2,11)(5, 15, 10, 16,7, 13,9, 14)]) = C2 . $4 = SL(2,3) . C
No = Group([(1.12,2,6,4,11,3,8)(5, 16,9, 15,7, 14, 10, 13), (1, 2, 4,3)(5,9, 7, 10)(6, 11,8, 12)(13, 16, 15, 1), (1, 4)(2, 3)(5, 7)(6,8)(9, 10)(11, 12)(13, 15) (14, 16), (1, 5,4, 7)(2, 10,3, 9)(6, 14, 8, 16) (11, 15, 12, 13)]) = Q16
Ny = Group([(1,7,4,5)(2,9,3,10)(6, 16,8, 14)(11, 13, 12, 15), (1, 13, 4, 15)(2, 14, 3, 16)(5, 6,7, 8)(9, 12, 10, 11), (1, 2, 4, 3)(5,9, 7. 10)(6, 11, 8, 12) (13, 16, 15, 14), (1, 4)(2, 3)(5, 7)(6,8)(9, 10)(11, 12)(13, 15)(14, 16)]) = Q16




